[image: image1.png]ELEE 3455 - Quiz #1, Vers. 1 - September 15, 1998 - Shattuck Section - Solution
The transconductance amplifier in this circuit has an input resistance of

75[Q], an output resistance of 5[k}, and a transconductance,
Gmsc = ig/Vj = 150[S], when the output is short circuited.

a) Find the voltage gain vg/vg.

b) Find the magnitude of this voltage gain in [dB].
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Solving I

SV, + Up + (.5°°°X!$°>05 + SOU, -50U5 = O

S6Uy = —750%10* Uy
_([.9- _-_"13)\{00

S

b) in dB, 20 log o }-lS,‘loo] :m




